| Efficiency vs Dxy |
.05
X

T T 11 A S
O e L ] A AR S
< | I R
@.041—----%------% ------- R |1 e R R
N U S S | EE S A
] RN | AAE A S S S
IR S 1 A A S
O e S e 4 N i S S S
00284t
s s o +* ------- e
OOLSF

0
0008
o+

Rat

=
!

0 56-15-10 =5 "0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TToriginal
[Efficiency vs Dz | |—s— DQM_mkFit_TT_JanUpdate-noErr

—— DQM_mkFit_TT_JanUpdate-noErr1H
N 0.1 ; : ; .

9,00 -t
S

Q g : : : : :
POB
@) r : : : . .
.07 o Frrereree frorereeeee F R A
© F : : : : :
e S B | R
1SS SRS SSNS M | —

004
YIRS USRS SN S O | . —
002t

0.01

930 =2 i ) 10 20 30
TP dz (cm)



	Contents
	Page 1


